EARAROBREBRT —5 XN—ZXBISH—F

202268108 (&) 6DEHH6H

M C3— US5R4Rm (XE] B | (SEEmE - | 9 14000 B2
Ty
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
118l9 | 7—ELETY Y6 S'IZJ%EE 1:(32).9 3-3-2-2 | 40.6| - 2 | 506 ﬂig&g% (Gicl)
RRLY oL BHHPU— 5 | B
=— =~ s 4 | JNEE— 1:33.1 1-1-1-1 [41.1] — 5 461 | BrpEiE (BH)
20111 |3Z7V—=F> 54.0 (/4) N5
RiSTU—=F4 B:EY/NRF4—1 © FTAVEYRT7—L
: t 5 | PHE 1:33.3 10-10-6-4 | 39.7 | — 6 479 | BER (k)
3170 7| *Mv3vRIE S0 & Gy | HEE
RIRVIATFAwIIAUT— BV v AN " EiE
F oS R— 4% 5 g}ﬁg—é 1:(34).1 6-6-8-8 | 41.1| — 4 | 481 ﬁﬁ% m@m)
. 5 5
RiYZAI—ZZRI— B:E27IVISUR (-2) RIS
—w ROIN=TS 8 %ﬁﬂéﬁﬁg 1:34.2 2233 |42 - | 3 | 42 %E;z (@)
= . (1) g 5
RAREFY BTy hIF4AUR 0 | Bamim
AV py T B4 ;rgffgém 1( :34_)2 5-4-4-5 | 41.6| — 7 | 475 g%g; (Gizl)
5 e =)
RTSYIILAR BZYIF—RI—) ) I8t s
- ) )—F T % 5 ﬁi%ﬂﬁ— 1(:34.)4 8-8-9-9 |41.0| — | 10 | 449 g%g% Gzl
— . 3/4 _g) | SHE
Ri—5—YvF BA—RZZZR 8 | gl m—
Ta09 U H— 8 5 Eg?g% 1(:34.;1 9-9-10-10 | 40.6 | — 9 | 412 iﬁ(g?f (E)ht‘“" 5
o JE - 7= 3z
R:/ITUZS B:IFZIFa—) (-8) #HEI7—L4A
ol7| g | PILF—RT51 B4 Sﬁgﬂgﬁﬂﬁ 1(:34.)5 7-6-6-6 | 41.6| — 1 485 ﬁggg (Em)
. 172
RIN=YISA BT RE Y/ W 2555 —1
10/5| 5 [/¥D—0O7 # 6 | JOEF 1:(35).4 4456 (426 — | 8 | 433 %(g)%;@(aa)
. 5 2
RIN—ANR BYFARRKRIS D | b
@ 11— —BERIEI
13—7F— 1,4,9,5,10,2,8,6,3,7
20— — 1,4,9,(5,10),(2,8),6,3,7
IT=5r= 1,9,4,10,5,(7,8),2,6,3
40—F— 1,9,4,7,10, (5,8),2,6,3
o ILRE
BB 9 340 JA R 1-9 510 & 1-8 1,110 3ER 1-7-9 8,850
B B 9 120H 7-9 730/ 5 & 1-9 1,380 3Es 9-1-7 29,140H
1 2604 1-7 1,310 oS- 1 9-1 2,440
7 310

ABIC OV TRUTEREERRODDZE. THRIIZEL.




